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I ' imd:q:ateﬁd! marks.
o ¢l B 4 15 minutes of extra time have been
4. q¥7 @ 5’3‘] ‘Eq P L?E':? % ﬂﬁm allotted for the candidates to read
i5 WWW awg AT T the questions carefully.
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5. UF Jv9¥ 3 @vsl 7 8 — wog-x S This question booklet is divided inlo

0q SvE-H{

6. WvE-9 ¥ 100 TG ¥y £ 6

frd & et S0 vt &7 v &
sfrad &1 vow ® svvw mAl &
I 3R W W 50 I FT @
ToiET [ Ao SlE e &
fm 1 o e 21 @&t 3o
IR HUG T4 OMR I TId A/
k7 @ gEt ey & e /7 w1
g 97 & wny w3 faet of
TFR & @A [ T @/
&g / YT T BT OMR FR-
glerwr & mar wmew oww b
=T TANT TRvnw Swrw @i
7. @vg-& 4 30 Y IWT T G,
frrt @ T 15 9wt &7 IAY
Ffrard &1 SRR e 23%
Enffrr &1.37% e, § G d
§ 20 Fdm wy 2w & fed
3 frt ¢ gy w1 Faw & #
i ¥ & g 5 3 Fiffea &

s fral yFw & wwE I & 8

waiT qofaar afa &

two sections — Section-A and
Section-B.

In Section-A, there are
100 objective type questions, oul
of which any 50 gquestions
are to be answered [irs!
50 answers will be evaluated in
case more than 50 questions are
answered. Each gquestion carries
1 mark For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer sheet provided 10
you. Do not use whitener / Hguid
/ blade / nail ete. on OMR-sheet,
otherwise the resuit wdll be
treated {nvalid.

' In Section-B, there are 30 short

answer type questions, out of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these, there
ae &8 long answer type
questions, out
4 questions are to be answered.
Each guestion carries 5 marks.

of which any

Use of any electronic appliances is

strictly prohibited.
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WYy - A / BECTION - A

AFFTS W / Objective Type Questions
o¥T aear 18 lwm*m*mwmww#ﬁmﬁ#w#h

ﬁFﬁSOmf#mav#mg#wﬂﬁﬂwﬁomyﬁzwﬁﬁﬁﬁ
14| 50 x 1 =50

Quastian. Nos. 1 to 100 have four opﬁans' out gf which nnl’y one ts correct.
Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. 50 1=50

1. i P[%,*t),ﬁisﬂ A(-6,5)1 B(-2,3)® W3 a9 @Es F

Wﬁ%t,?ﬁ a %! 914 §m

(A) -8 (B) 3
) -4 (D) 4

If P[%, 4] is the mid-point of the line segment joining the points

A(-6,5)and B{~2, 3), then the valucof ais

(A) -8 (B) 3
c -4 tDl. 4
2. aﬁaﬁqﬁgqﬁ%ﬁﬁﬁmﬂﬁﬁgﬂmmmz}vn?
(A) 1 B 2
() O D) 3

If three points are collinear then what is the arca of the triangle

made by them ?

(A) 1 B) 2
(C) O o) 3
2=4(M=)-H;s-4mm-mm| . Page 3 of 48
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3. af aABC % Yl ¥ 3w A(-1.0), B(5.-2) W C(8,2) & @

IGH Hgd & MeWTH B

(&) (12,0) (B (6,0)
(@ (0,6) (D) (4,0)
If A(-1,0), B(5. -2} and C(8, 2] are the vertices of a AABC then
co-ordinates of its centroid are
A} (12,0) B) (6.0])
(€ (0,6) (D) (4,0)
a. TR Bn@ ABCH AD, ZBAC T 3d% § @ AB = 109, AC= 14 A,

BC-68M @A DCHUAE
(A) 2.5 3 (B) 3-53m
(C}  4-58d (D) 43

Il in MBC,I AD is the bisector of /BAC and AB = 10 cm,
AC = 14.cm, BC =6 cm then the value of DCis
[A) “2:5c¢cm (B 35cm

(C) 45cm D) 4cm

5. fr@ ABC HDE || BC mm%%%:g.aﬁamg-aﬂma

AE=?
@A) 428 (B) 3-19
) 28%f (D) 213
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In AABC, DE || BC such that %:% [f AC = 5-6 cm then AE = ?
(A] 4-2cm (B) 3'lem
[C) 2-8cm (D) 2'1em
6. afx A wwEw Bl € wma qal 1 IwA 5 ;6 W A I I H
HTE B
(A)  25:36 B) 5:6
([C) 36:25 (D) 15:16
If the ratio of corresponding sides of two similar triangles is 5 : 6
then the ratio of their perimeters is
(A) 25:36 B) 5:6
(C) 36:25 (Dhe N Y5 : 16
7.  AABCH AB= 643 @i, AC= 12 &l au1 BC = 6 @ft @l /BEM
(A) 45° B) 60°
(C) 90° (D)  120°
In AABC, AB = 6J§cm, AC=12cmand BC =6 cm then /B is
(A) 85° (B) 60°
(C) 90° (D) 120°
8. 3R gmarg Bn@ ABC 1 0 o1 12 ¥t 7 wwag e DEF 6 @
¥ 6t & m[(ﬁi?j )
(A) 2:1 B) 1:2
() 4:1 Dy 2:3
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If one side of an equilateral triangle ABC is 12 cm and one side of

_ ‘ _ arca (AABC) _
equilateral triangle DEF is 6 cm then arca (ADEF ."

(A]  2:1 8) 1:2
C) 4:1 D) 2:3
AABC & APQR wiwa fiw € fmd ap, i A @ BC W wm } 7

9.
PTY PAQRU SRR TR AD=9 &l @§ pr=7 &t & & B
ABC w1 B[ POR % g3%w] 1 3@ B
Ay 9:7 B 7:9
(C}y 16:25 (D) 81:49
AABC and APQR are similar triangles in which AD is pérpendicular
from vertex A to BC and PT is perpendicular from vertex F to QR. If
AD =9 cm and PT = 7 cm, then ratio of areas of triangle ABC and
triangle POR is
(A) 9:7 B) 7:9
(C) 16 :25 (D) B1:49
10. T WANTE P ) wF s 12 3R A @ wh S5 e
Ay 642 @ . (B] 63 aeht
(C] 3J6 udft (D) 646 vl
If one side of an equilateral triangle is 12 cm then its height is
(A] 642cm (B] 6J3cm
(C) 3J6cm (D] 6v6cm
24{M)-H/S-41001-wo/e01] Page 6 of 48
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12.

13.

5y "

& 3= @ 3w wRel R A g 1070 A T D AW

(Al 10 /%1 (B 8 R
L) 5 aﬁ (D) 12 ‘é\ﬂ

The distance berween two parallel mngents of a circle 1s 10 cm.
Then the radius of the circle is

(A} 10cm (B) 8em
(€ Sem O 12cm

R 37 7R T = @ wew Wl =@ @ @ vafe wReed A Fen =
gl 2

(a1 B 2

) 3 (D) 4

If two circles toucH each other externally then what is the number
of common tangents ?

a 1 | 2

c 3 (D) 4

Pt Wi fg PR @ W PA W PB A wd el dR &R
PA=6 Sl @ PB=

@) 123 (B) 6

) 8 (D) 18 %
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lo.

(110]

From an external point P, two tangents PA and PB arc drawn on a
circle, I PA = 6 cm then PB =

(A} 12cm (B 6cm

(C)} 8cm | (D) tBcm

a2 3 A B a2 T 39 W S 1 witen] wen 60° ¥ Ha T FH
2 @ wede vt 6 o=

(A) 23 af (B} :32—‘5#41
(C) 343 & (D) 4 &t

Il two tangents drawn on a circle of radius 3 cm are inclined to

cach other at an angle of 60°, then the length of each tangent 1S

343

(A) Eﬁcm (B) Tcm

(€] 3J3cm (D) 4cm

afe sin(20°+8} =cos 30° DoFAT L

(A) 30° (B} 40°

(C) 50° () 60°

If sin(20°+0) =cos30° then the value of 8 is

(A] 30° (B) 407
(Cy so° (D) 60°
24(M)-H/S-41001-s0z6m) Page B of 48
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18.

19,

[110]
afe aABCHzC=90° @ sin {A+ B) =

(A) O B) 1

(D) -J‘—E

Ifin AABC, Z/C=90° thensin (A + B) =

1
© 1

(A) O (B 1

L 1
2 — D =
<@ 3 o} -
sec?23' - tan?23'+2 =
(A) O | 1
) 2 D) 3

'Ilﬁ xc059=l,tanﬂﬂy?ﬁ x2-y2 iﬂﬂ'ﬁ%

(A} 2 B O
c) -2 : o) 1

If xcos@=1,1tan 6 = y then the value of x? - y’is

(A] 2 : B) O
c -2 |

I[E tanez—g-. '\'?lsinﬁ'

2
(A) ® 3

3
O

wies  wle

(€
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BiharbourdQuestionpuper.com



https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[110]

If tanﬁ:% then sin 6 =

4 . 2
LY B 3
4 3
© 3 D) %
l+cosA
e d l-cosA
(A) cosec A-cot A (B) cosecA+cotA
(C) cosec A.cotA (D) sinA.tan A

21. tan 5°.tan 25°. tan 30°. tan 65° . tan 85° =

A) 1 B) 3

(C) 7% o) 3
22. cos 38° cos 52°= sin 38° sin 52° =

(A) .1 (B ©

© 2 o 1

cosec42 y cos37 N

23. - it
sec48 sin53
(A) © B
2
(C) 1 (D) 2
24(M)-H/5-41001-1s0rs0] | Page 10 of 48
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29.

[110]

Tfe tan{a+|3}=J3_3ﬂ'{tana =j%-?ht&n[iﬁ'l=lﬁt

w 1 B
1 7
(C) ¥ O ¢
If tan(a + B) =¥3 and tana =—J% then the value of tan p is
A 5 B 3
© I D Z
J’E [sin% +c05%] =
(A) V2 | B) 2
c 1. D) %

2
76. It acosB+bsind=4 T4l asin0-bcos0=23 at a? +b w1 AH 8

A 7 (B) 16
C) 25 (D) -36

If acos0+bsind=4 and asin®-bcosf=3 then the valuc of

a2 +52 is biharboardquestionpaper.com

[C)] 25 (D) 36
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27.

28.

29.

[110]

2 o 5 e 0 3 <2y & 7 3 ol 1 g BT
W Ay B Jxiy
{C) y:x. D) x ¥y

: TR tio of
The ratio of the arcas of two circles is x4 . Then the 12

their radii is
A x*y B Vx:y
) y:x (D) x:y

feeft 39 1 &50R 49x a1 A A e =@ B

(a) 7ah (B) 14 3

(c) 498 (D) 21 @

The area of a circle is 49r square cm. Then its diameter is
(A) 7cm (B) l4cm

(C}] 49cm (D) 21cm

sTwd A 14 9t Bk wRm S T A AN R 2

(A) 400 &t (B) 440 &t

(C) 288ud (D) 388 Tt
The distance covered by a wheel of radius 14 cm in 5 revolutions is
(A) 400 cm (B) 440cm

(C}) 288cm (D) 388cm
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30.

31

32.

[ 110]
Th 9 F TS T 0 T F ARG W & A 7 oRifedd = e

#m
(A 1:1 B) 2:x
(€ =:2 D) Vx:2

If the area of a circle is equal to the area of a squarc then the ratio

of their perimeters is
‘Al 1:1 'B] 2-xn
(C) m:2 (D) Jx:2

TR p(x)=x* -5x+6 W g(x)=2-x*’ A A P(""]’amma@‘ﬂ

(A) 2 (B) 4

) 1 (D)

(x) .o
If p(x)= x* -5x4+6 and g(x)=2- x?, then the degree of P‘ ]

(A) 2 (B)
cy 1 (D)

frafrfea § a4 R aftsm 2 2

(A) x2-3/x+2=0 (B) x+i— = x*

Q) x*+—5=5 (D] 2x*-5x={x-1)

Which of the following is a quadratic equation ?

A) x*>-3Jx+2=0 (B) x+ =X

2 2
€ xP+-s=5 (D) 2x*-S5x=(x-1)

i24{M]-H/ 8-41001-|mfm' Page 13 of 48
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34.

35.

[116
afe, feam after x? + 2kx+ 4=0 F T 0 22 k T AA EM

(A] -1 (B) -2

c 2 ] (D) -4

Il one root of the quadratic equation x2+2kx+4=0 is 2, then the

value of k is
(Al -1 B -2

€ 2 D) -4

R (x+3), ax®+ x+1 F] TF THEE A Al o W= A
(A) 3 B 3

(€)

0N

D) 9

Il (x+3) is a factor of @x® + x+1 then the value of a is

A} 3 )

(A) B 3
2

€ 5 (D) 9

(A) 1 (B)

Lo |

& (D)

K|

24(M)-H/S-4100 1 -s0req)
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36.

37.

[ 110]

For what value of p, roots of the quadratic equation px*-2x+3 =0

are rcal and equal ?

A (B)

Cad fr—

1
@ 3 o 5

frama TR 6x2 - 3x+5=0 ¥ yFA it wHh w71 gt ?
(A) Frfde T 3EEE (B) aTeafy® wd #OH

(C) aries T8 (D) ¥ A wE A

Wwhat is the nature of roots of the quadratic equation

6x2-3x+5=07

(A) Rcal and unecqual (B) Real and equal

(C) Not real (D) None of these

afe feama g™ xhx-zo:pmﬁ(adlﬁmmmaﬁm
(A) 9 () -4

(C) -9 (D) 3
If one root of the quadratic equation x2+x-20=0 is 4 then its

other root is

(A) 5 B -4

€ -5 (D) 3

|24[M}—H;‘S-4 LOOl-tmnmi Page 15 of 48
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38, af R WA 2 46145 -0 F A a W@ HE T u? +p" B B
(A) 30 (8) 16
(C) 26 (D) 20
If a and P .are the roots of the quadratic equation X2 +6x+5 =0
then the value of «? +B2 is
(A) 30 (B) 16
€y 26 (D) 20

39. fiam wftwm pxa—-qx-rr:(), px0 *‘Lﬁ%

(Al qt ‘qz_q.pr B q - dqz +4pr
2p (B) 2p

C —qt{qz—f#pr —qi‘dq2+4pr

(©) 5o (D} =

The roots of the guadratic equation pxz-q.u-r:(] , p#0 are

q:l:y‘_ q3—4pr quqi+4pr
(A) (B)
2p 2p
-quq2—4pr -gt q2+4pr
(C) (D)
2p 2p

40. TR x = - 1 g =l 2x?+3x+ p=0 3N gx’-gx+4=0 ® TH
IR 4 A @ p+ g & WA @M

(A) 1 B) -1
€ 2 (0) -2
|24(M]-Hj$-41001-tuuno: Page 16 of 48
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42.

(110}

If x = -1 is a common root of both the equations 2x’+3x+p=0
and gx* - gx+4=0 then the value of-p +q is

(A) L B) -1

€y 2 (D) =2

o v ) T, S o S w15, oM w5 @ A
el e e g

(A) 200w ? B) 210% 2

(C) 250+ ? (D) 220 ?

The length, breadth and height of a cuboid are 15 m, 6 mand Sm

respectively. Then the lateral surface arca of the cuboid 18
2
(A) 200m? (B) 210m

s 2
(€) 250m? (D) 220m

aﬁn‘fgmmﬁmﬁﬁ4ﬂm=jmmﬁﬁﬁﬁmmmmﬁﬁ?

A) 4 (B) 8

(c) 12 (D) 16

How many cubes of side 4 cm can be formed from a cube of side

B8cm? biharboardquestionpaper.com

(A) 4 B) 8
© 12 (D) 16
Z4(M]-H1/S-4 1001 -ts0/60 Page 17 of 48
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[ 110

m%mmﬁﬁﬁﬂﬁw:sﬂ.4ﬁﬂm5#‘ﬂiﬁm

qa;aaimmnmlﬁiﬁmﬁmtimwmm?
(A) 72 ? B) 1448
) 128 @ ) 256 & *

Three cubes of metal with cdges 3 cm, 4 cm and 5 cm respectively

are melted to form a single cube. What is the lateral surface arca of
the new formed cube ?
(A) 72 cm? (B) 144 cm”
(C) 128 em? (D) 256 cm”
44, ﬁhﬁﬁﬁmﬁwmz:saﬁmmmws;aﬁaﬁ
FF EEA W aETd
(A) 27:20 (B) 20:27
€ 4:9 (D} 9:40
The radii of two-cylinders are in the ratio 2 : 3 and their heights arc

in the ratio’5 : 3. The ratio of their volumes is

(A) @7:20 B) 20:27
C 4:9 (D} 940
45. TR A9 F WHYY F &A%A 1760 M2 @ awn @R anum D) B
14 @ B a’(m—aﬁ’rsﬁé uil
(A) 10 & (B) 15
(€) 20%&H (D) 40 &
24{M)-H/S-41001-(s07e0; Page 18 of 48
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46.

47.

(110 ]

If the curved surface area of a cylinder is 1760 em? and its base

radius is 14 cm then its height is

(A) 10 cm (B) 15cm

(C) 20cm (D) 40cm

o U % TR it wrw e 4 30 stk ariahes s 3 &0 ) AR @R
warg 10 O @ A uig 1 e g

(A) 120 &t 3 (B) 220&f 3

(C) 440@df 2 (D) 1540 &R 3

The external radius of a pipe of metal is 4 cm and internal radius is

3 cm. If its length is 10 cm then the volume of metal is

(A) 120cm’ (B) 220 cm”

(C) 440cm’ (D) 1540 cm®

afe freft v & STUR A B w o e S 1 @, @ 9% T
qE H1 AFEA &

(A) 3 arl (B) =ri

() %rrrf (D) 2 nrd

If ris the radius of the base of a conc and | is its slant height then

the curved surfacc arca of the cone is

(A) 3 arl (B)

(C) Lar (D) 2 =rl

3

Page 19 of 48
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49.

[IIGJ

14 ) =@ TR PR 7 et g BAHT T
2

(A) 147 n 87 2 g 198 a8

(C) 488 n @ 2 (D] 396 n @ 2

The total surface area of a hemisphere of diameter 14 cm is

(A} 147 ncm? M) 198 ncm?
(C) 488 ncm? (D) 396 = cm?

T OF & WA 1570 A3 3 ofe s@ amum w1 SFwa 314 82 R,

Al s Fard 2
(A} 108 (B) 15%f
(C} 188 (D) 20%#

3

The volume of a cone is 15T0 cm™. If the area of jts base is

314 ¢cm? then its height is

(A) 10cm (B) 15Secm
(C) 18cm (D) 20cm
24(M)-H/8-41001 -(80/60) . Page 20 of 48
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50. IR @ men A B 2, @ A www g @
32nr? 16mr?
A =3 ) lor
(C) gur o & nr’
3 (D) 3
If 2r is the radius of a sphere then its volume is
321“'3 161‘!?’1
(A) === (B) :
8 mj 64 ar
(€) 3 (D) .
51. ®ATR A - 3, - {,- 2, ... & 114f 9 T @m ?
(A) 28 (B) 22
(C) -38 (D) -48
1
What is the 11th term of the A.P. - 3, - 2 - DO
(A) 28 (B) 22
(C) =38 (D) -48
57, w®ui A 41, 38,35, ..., 8 i g2i ) v 2
(A) 12 B 14
(C) 10 (D) 15
The number of terms in A.P. 41, 38,35,...,8 is
(A) 12 (B) 14
(D) 15
— 0= Page 21 of 48
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|

23.

9.

S3.

[ 110
AT AR 2, 4, 6, 8, ... % waW 50 Y&l W1 AT @

(A) 2500 (B) 2550
(C) 2005 (D) 2000

The sum of first SO terms of the A.P. 2, 4, 6, 8, ... is

(A) 2500 (B) 2550

[C) 2005 (D) 2000
Rg (247, -3 ) Prw aqutu i } 2

(A) wuw B) fida

© i (D) =g

The point {247, - 3 ) lies in which quadrant ?
(A)  first (B) second
(C) third (D) fourth

frgai(2cos0,0) 7 (0, 2 5in 0 LR EE IRk |

A) 1 (B) 2

© 3. D) 4

The distance between the points (2¢os 8,0 ) and (0, 2 sin 0 is
(A) 1 (B) 2

€ 3 (D) 4

24(M)-H/S-41001 -te07s0,
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56.

S7.

58.

1110 |
@ W x = - 2 8Y y = 3% we g R

(A) (-2,3) (B) (2,-3)
€ (3,-2) D) (-3,2)
The intersecting point of straight lines x=-2 and y =3 is
(A) (-2,3) B) (2,-3)
(€ (3,-2) (D) (-3,2]

g3t (7,-4)@ (-5 1)s@aRNg

(A) 12 (B) 13

(C) 11 (D) 5

The distance between the points {7, -4 ) and (-9, 1)1s

(A) 12 (B) 13

) 11 D) 5

y-alalm%ﬁgﬁﬁ@:s,-z;ﬁ(-a,mﬁma,ﬁ

(A)  10,3) B) (-20)

(€ (0,-2) D) (2,2)

The point on y-axis which is equidistant from the points (5, - 2)

and (- 3,2)1S

(A) (0,3) (B) (-2,0)

(C) (0,-2) (D) (2, 2]}

e .
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Ell[}]

59. Fonsqmma%,ﬁnﬂ:sﬁémo,oh@('ﬁ-ﬂl-m&“@
S(0,2)% @ I F e BT
a) 6 (B) 8
() 16 D] 12

PORS is a rectangle whose vertices are P( 0, 0 ), @16, 0), R(6,2)

and S (0, 2 ). The area of the rectangle is
A 6 (B) 8
) 16 (D} 12
60. TR A(a,0), B(0,0) T C(0, b) Pt aABC % Y £ @ AABC &
A% §PT

(A)  ab B) Lab
2

. 1 2

€ Fa*b’ (©) %b?

If Ale,0), B(0,0) and C(0, ¥) are the vertices of AABC then the

area of AABC is

(A) b 1
q (B) 3 ab
).q

{C} aﬂ bz (D} % b2

[24(M)-H/S-4100T 0709/
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[ 110 ]

@& x'+5 B)  9x?-ax+y3
1.8 & 5 3
) Zx g X +8 (D) x4

Which of the following is not a polynomial ?

Ay x*+J5 (B) 9x2-4x+y2
© Sx’+2x*+8 D) x+3
8> '8 _ .

62. 9gdq (xs +x2+3x}lx5 +x5+x2+ll %1 UW &
(A) S B) 6
{C} 11 (D) 10
The degree of the polynomial (x® +x* +3x) [xf' +x>+x2+1) is
(a) S B) 6

11 (D) 10

63, AEIR xZ11 F IS

(A) 11,-11 B) 11, -V11

€ V11, -1 (D) J11,-11

The zerogs of the polynomial x* =11 are

&) 11,-11 B) 11, -v11

i) V11, -411 o) J11,-11
34(M)-H/S-41001-60;60] ~  Pagc25of48
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(110

64. TR -2 - 3 R wgwg xP+(a+l)x+b FAIFET
AY a=-2,b=6 (B a=2b=-6
(C) a=-2,b=-6 (D) a=4,b=6
If - 2 and - 3 are the zeroes of the quadratic polynomial

x?+{a+1)x+b, then
(A) a=-2,b=6 B a=2,b=-6
C) a=-2,b=-6 (D) a=4,b=6
65. “ﬁ‘@,‘ﬁ x?-9x+a + YU W OS8R @l a &I HH EM
(A) 9 o - | -9
(C) 8 - (0) -8

If the product of zeroes of the polynomial x°-9x+a is 8 then the

value of a is
(A) &3 (B) -9
(C) 8 (D) -8

66. frafrftea 4 fFa e age v aw -2 7

(A) x?-2x-8 B) x%+2x-8
24(M)-H/5-41001-(s0/60) Page 26 of 48
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67.

B8.

: (110
WHER dr e following quadratic pelynomials has zeroes
4and -2 7
(A} x*-2x-8 Bl x*+2x-8
© x*-2x+8 (D) x2+2x+8

TR TGR p(x)=x +3x-4 % G=F o W A D "‘Tﬂmmﬂ’ﬂ

A -1 B) 1

(C) 4 D) -4

If @ and B are the zeroes of the polynomial p(x)=x’+3x-4 then

the value of GTE' is |

A -1 B 1

) 4 D) -4

7 qEYE q(x ) TF TF - 3 WA g(x) T T PHEE T
(A) x=3 (B) x+3

l
(C) —= (D) =3

If one zero of the polynomial g{x) is - 3 then one factor of g{x) is

(A) x-3 B)] xt3
1
1
© i o
24(M]-H/S-41001 -e0/601] Page 27 of 48
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69,

70,

71.

110
W fix)=n® -2 - xe2 W glx)=x?-3xe2 A W R TR G

WIS &7 9T &I
(A) 4 8 2
€ 3 D) 1

T fix)=x"-2x>-x+2 is divided by g(x)=x"-3x+2, then the

degree of the quotient is

(A) 4 B 2

¢ 3 D) 1

e g9 X - 3(x+1)-5 FYTF oW R & A (a+1) (p+1) B A M
A3 B) -3

€ -4 | D) 4

If a and B are the zeroes of the polynomial x? -3(x+1)- 3 then the

~value of (@+1] (B+1) is

(A} 3 B -3
<y -4 i (D) 4

- wun <H, faew et % mey 2

(A) 100 (B 10
IC)] 350 (D) 20
The mean of first ten consecutive odd numbers i<
(A} 100 (B) 10

© 0 D 20

24{M)-H/S-41G0 1-is0/60)
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[ 110 ]

72. 15,6, 16, 8, 22, 21, 9, 18, 25 # ity 2
(A 16 (B) 15
(C) 21 (D) 8
The median of 15, 6, 16, 8, 22, 21,9, 18,25 is )
(A) 16 (B) 15
€) 21 D 8

73. 0,6,5,1,6,4,3,0,2,6,5, 6% ¥g

Ay S (B 6
(C) 2 D) 3
The mode of 0, 6, 5,1, 5, 4,3,02,6,5,6is
(A) 5 B) 6
(C) 2 o 3

74. UH SRERA €24 % T W g FE 4864 T8 46-52 £ & FHHI

qre g
(A) 4970 (B) 49
() 50 D] A & #ig I
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[110]
. sributi 4864 and
The median and mode of a frequency distribution &re

46-52 respectively. Then its mean is
(A} 4970 (B) 49
(C) 50 : (D) none of these

afe ot Auet X, x+2, x+4, x+6UW x + 8 &I W ll'l!)f'fﬁl"iiﬁ”‘Tq
3ul

A s B 6
(C) 7 (D) 8

[f the mean of five observations x, x+ 2, x+ 4, x+ 6 and x + 8 is

11 then the value of x is

fere 9t & 1e 3ie gerat siiftsfataes
(A) 5 B 6 daYs que, HAISS uuz, m-zﬁ,
UTGIehd, Siied, HAld eec, Ae-3 3iie
c) 7 D) 8 R udten uss ua 3nfd & f3e...
G HENE geA T wRear F4T 'ﬁlﬁ 2 ( BiharbourdQuestionpa[ie:com !B
1 S
A 5 ® o
C) 1 (D) 1%¥ <>

What is the probability of an impossible event ?
(Al = B o
2

(C) 1 (D) more than 1

|2‘“M]'H,‘5-4 IDUI‘IWM;&]
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77.

78.

| 110]
afe P(E)=0-4 A P(E') T R
(A} C96 (B) 06
€ 1 (D) 0-06
[f P(E) =04 then the value of P(E') s
(A) 096 By 06
<] 1 D) 006
2 il Sl % § gya gl ) @ 2
(A) 12 | (B) 20
(C) 36 (D) &
In the throw of two dice the number of possible outcomes 18
(A) 12 (B) 20
(C) 36 (D) 6
g § Fhdraen R ge Y mivwar 78 @ wdl @ 2
(A} 06 B) 15
(C) 75% (D) %

Which of Lhe following numbers cannot be the probability of an

event ? biharboardquestionpaper.com

(A) 06 (B) 15
€) 75% (D) %
24(M]-H/S-4 100 1 ~t60/60| Page 31 of 48
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[110|

80. ﬁﬁﬁwﬁﬂﬁmmﬁmﬁwwé?

a) o B =

© 3 (o) 1

What is the probability of not getting an add number in & throw of

a die once ?

A) © (B] %
1
“ = D) 1
8l. M 2a+3b=8TF 3a-4b=-58T @A
(A a=1,b=2 B) e=2,b=1
(C} a=-1,b=2 (D) a=2,b=-2

If 2a+ 3b=8and 3a-4b= -5, then
(A) a=1, b=2 Bl a=2 b=
(C}) a==1,b=2 D) a=2 b=-2

B2. Wah Tl gm 2x-3y-8 W 4x-6y-9 3

(A) EmW (B) e

(C) e D) 3 A = 4%

The pair of linear equations 2x —Sy-:s and 4x -6Yy=9 ar
= e

(A)  consistent (B]  inconsistent |

(C) dependent (D) none of these

24{M)-H/S-41001-s0/e0| Page 32 of 4¢
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83.

B4.

[110]
Tl 2x+3y=4 T 4x+6y=12 * TR frm ywR K T @

gl ?
(A) HI TS t@rd (B) wWim W @
() w=8d e el (D) % A & T

The graphs of the cquations 2x+3y=4 and 4x+6y=12 are which
Lype of straight lines ?

(A) Coincident straight lines

(B) Parallcl straight lines

(C) Intersecting straight lines

(D) None of these

Trfteo PrETE 2x-3y+1 =0 AW 3x+y+2-0 hfEm e € ?

(A) THIRFTEG@W (B AT
) 3Ffa F (D) ¥ 838 T

How many solutions does the system of linear cquations
2x-3y+1 =0 and 3x+y+2 = 0 have ?

(A} one and only one solution

(B) no solution

(C) infinitcly many solutions

(D) nonc of these

,24(M]-HIS-41001 -ﬁw&mi Page 33 of 48

BiharboardQuestionpaper.com



https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[”0;

RS, k%mm%mmwx+2y=3w5x+ky=155\‘im_

WmiE?
A] S - B] 10
[y 6 (D) 12

For what value of k, has the system of lincar cquations X+2y=3

and Sx+ ky =15 infinite solutions ?

(A} 5 (B) 10

€ 6 (D] 12
86. Pefrfmm i s amm 4 2 -

(A) ©0-3, 0-33, 0-333, ... Y 1, 11, 111, ..
(C) 2,4,8, 186,.. (D) 0,-4,-8,-12, ..
Which of the followingis an A.P. ?
{A) 0-3,0-33,0333, ... B8 1,11,111, ...
{C) 2,4,8 16, ... (D) 0,-4,-8,-12,...
87. pHfRaTE &g (2p+ 1), 13, (5p-3)Eaim I 8 2 o
Ay 3 B) 4
(€] 12 D)y 6
For what value of p, terms (2p+ 1), 13, ( Sp~-3)arein AP ?
(A) 3 (B) 4

(C) 12 (D) &
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B8.

89.

SQ0.

[110]
o a WA AR 3,8, 13, 18, .. WM n A R RA ay-ap T D

gm ?
(C) 40 (D] 55

i [
If @ _is nth term of A.P. 3, 8, 13, 18, ... then what is the value ©

@ps =Gy 7
(A) 350 (B) 75
(C} 40 (D) 55

Wﬁﬂwﬁlaiwmsﬁﬂzsﬁqﬁﬁﬁﬂﬂmm
&m

Ay S (B) 4
c 3 (D) 6

The 2nd termofan A.P. is 13 and its 5th term is 23. The common

difference of the AP. is

(A) 5 B) 4

€ 3 D) 6
ﬁmw%mnﬁmmc&-nz]%ﬁma@mmm

&m
(A} 4 B) -2

(€) 2 (D) 6

I24(M]-H;S-41001-mmml| Page 35 of 48
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91.

92,

| 1101
2 .
If sum of first n terms of an A.P. is (Sn-n ) then the Cummﬁn

difference of the AP is

(A) 4 B) -2
€y 2 D) ©
64 i
a1’ E §
(Al 9Pt dem (B) Wit wEA
(C) quls w=m (D) ¥T&Ha &l
64  [16 .
Bl + —g- 15
(A)  Rational number (B) Irrational number

(C)  An integer (D) Natural number

2 srafita Temait 2+ U8 mon 3-45 & TUERE 2P U

(A) _ <REw T (B) mfeim Hem

(C)  quriss e (D) WFa gem

The product of two irrational numbers 3+J6 and 3-J5 will be
afan

{A) Rational number (B)  Irrationa] number

(C] Integer (D)

Natural number

24(M)-H/S-4 L0 i
/S-41001-s0/00 | Page 36 of 48
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93.

94,

95.

(110 ]
(0.3 + 0-4 ) %] FEHY &9 }

7 7
(A) _l 0' (B) E

7 7
(C) 11 (D} 39

The simplest form of (0-3 + 0-4) is

A 15 - B 7
7
© 5 D) =

AR 156 =2 x 3 x 137 A M x+ y+ z=

(A) 4 . (B) 5
c 3 D 6

If 156 =2"x3¥Y%«13* /thenx+ y+z=

(A) 4 (B} S

(c) 3 (D) 6

JioxJ15

(a) iedg (B) i T

(C) Ui aw (D) TR FE

J10 xJ15 is

(A) Rational number (B) Irrational number
(C) I[nteger (D} Natural number

'24|M)-Hf S-41001-(s0/60) | Page 37 of 48
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96.

97.

| 110
z“fs"' % w9 H 0-105 A forgr 31 7wl 2
LY S =
22, 52 (8) 3% 5°
(©) 21 5
2% 52 B %s

h.l the form of —£ , 0:105 can be wntten as

21 g™
21
{A) 21
22, 52 (B) 2% 50
() 21 21
23 v 52 [Dj 2 5‘3

TR T W F1 Rewo = 25 3tk HoHo = 50 2 & §Ena F G
ghm |
(A) 1250 (B) 1150

(C) 1330 (D) 1050

If H.C.F. of two numbers = 25 and L.C.M = 50 then the product of

numbers will be

(A) 1250 (B)

1150
(€ 1350 (D} 1050
98. W NPT TN a=bg+r F b=61,g=277Y , = 328 M g F IR
M ?
(A} 1679 (Bl 1600
(C} 1669 (D) 1688
|24[MI—HfS-4lUOI-[6omm
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o

a9,

100.

[ 110
i1 i division algorithin a- bgrr, b=061, =27 and r = 32, then

what 18 the value of q 7

(A} 1679 (B) 1600
() 1669 ) 1696
afd ¢ v warns yile @) Defaftye § Qo v faem quita & 2
(A)  Bg+ ! B) 6q+2

(C) Og+A [l)]‘ Ggq+ 6

g itive
If ¢ is o posilive integer, which of the following is an odd positi

inleger ?
A} 6g | B) bg+2
(C) 6g+4 D) 69+6

&) qraTe fep Hen i &1 Howo we R

[AI 0 lB:l 1

(€ 2 L

The H,C.F. of two consceutive odd numbers 18

{nl {_] {E} |
© 2 D) 3
Mﬂi]-]ﬁg-_ﬁt}{}l-mrmri Page 39 of 48
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_ [HQI

wug - @ / SECTION - B

Y IT W / Short Answer TIPS Questions

g @ e 1597 & I E) g

15.’:2:30

Ty wEr 1@ 30 7% g IwAiw 4T &

v & g 2 5@ Falfa i

jons. Ans
Question Nos. 1 to 30 are Short Answer Type Queshons Wwer an,,

, 15 x A=
15 questions. Each question carries 2 marks. 30

I o P W e g At g o R w009 )0l 3 6 )
(-8, -2)%8 2

Find the area of the triangle, whose vertices arc ({0,4),13,6)ang

(-8, - 2) respectively.
o 2470
o U feet : cosec 39° cos 51° + tan 21° cot 69° - sec” 21 2
o 2 o
Evaluate : cosec 39° cos 51° + tan 21° cot 69° — sec™ 21°,

3. g i fF sec*0.otan’ 6=1+2tan’8. p:
Prove thatéee” 8- tan® 0=1+2tan?e.

4. fagwtts (J3+2) & fim gen 2 | 2
Prove that [Jﬁ +2]2 is an wrational number.

5. fum agwg —simmmmvﬁuﬁwm%fﬂa%w

# wogar 1 Ji= H 9

Find the zeroes of the quadratic polynomial x* -3 and verify the

relationship between the zeroes and the co-efficients
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ﬂ ;qu.x‘—ixa-—'mz ﬁing £ -3x+28Wm3 2

.

10.

11.

| 110 ]

pivide polynomial x* -2x° - x +2 by the polynomial x?-3x+2.
ﬁgm@ﬁmﬂmmzsmismmnommﬂu 2
Using Euclid division algorithm, find the HCF of 252 and 594

prffiaa AfFsl &1 T @ Wt <
+H 4 6 8 10 12
ARER 4 8 14 11 3
: __.-________-—--—J
Find the mean of the following data :
N
Variable 4 6 8 10 12
Frequency 4 - 8 14 L1 3 E

ﬁ@ﬁﬂm&ﬁﬁ%lqﬂ*wﬁmﬁﬁiﬂﬁﬂﬁiﬂqﬂ%ﬁﬂ
4 af A gl W R 2

A circle is of radius 6 cm. Find the length o
m centre of the circle.

 that chord ol the

circle, which1s at & distance 4 cm fro

If one zcro of the polynomial (a +2}x2 _3ax-2 is negative of other

then find the polynomial.

aﬁaﬁmﬁm%ﬁaﬁﬁﬂﬂaﬁg%mﬁﬁwﬂgsﬁgiﬁ
dwé:iﬁiaimmmﬂhymﬁ%ﬁwm%@ 9
The sum of the digits of a two-digit number is 9. If 9 is added to the
number the digits of the number are reversed. Write the equation

for these statements,

__'_#__—_—-F '
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13

14,

15.

16.

17.

(110

mﬂm ﬁx+ﬁy=0m ﬁx-ﬁy=0 ﬁwmm
fafa @ 7 = 2

Solve the pair of cquations ﬁx-i-ﬁy -0 and ﬁx—ﬁy =0 b}

the method pf substitution or elimination.

& g ) Tl e e Sad w0 26 1, 14 # aw 65 A & @
TN 1 I g e 0 @ 2 :

The length, breadth and height of a cuboid are 26 M. 14 m and

6'5 m respectively. Find the lateral surface area of the cuboid.

3
et ¥em & TYs 1 QFwe qu A FE: 264 {7 I g6 M°
@o & B qun damd 7w+ 2

The curved _-;.urfacc area and volume of a cylinder are 264 m* and
396 m" respectively. Find the radius and height of the cylinder.

fetft wig & yuR A Aiem 77 S a3 21 A @ @ IF F AR
el -2
The basc radius of a cone is 747 cm and its height is 21 cm. Find

the volume of the cone.
gfe Redh AP, & YuW 14 € 1 WM 1050 R 7Y IWHI YUYW T 108 A
20 97 9€ JTd Hi 2

If the sum of the first 14 terms of an A P. is 1050 and its first term
is 10, find the 20th term.

WAPFTMM N2 HAMTA R @ ad am 72 alk 22 al w
149 2| 2

Find the sum of first 22 terms of an A.P. in which common
difference is 7 and 22nd term i1s 149,

[24(M)-H/ S-41001-(0760) Page 42 of 48
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18.

19.

20.

21.

22.

23.

24,

| 110 |

¥oeTe BT ABC 9 Y% W1 o R @ fig #t f P w1 ol @9

-Ji?-a B 2
Each side of an cquilateral trianglc ABC is a. Provc that the
alutudc of the triangle is ga .

Ream Wl 0x2 _6x+1 -0 % Rdww g @ i g7 $ IF
W 2
Find the discriminant of the quadratic cquation 9x’-6x+1=0

and hence find the nature of the roots.

k % T aet & foag Ram aftsm (k+1)x? -2(k=1)x+1=0 & I
W B P 2
For what values of k has (the
(k+1)x? - 2(k-1)x+1=0 equal roots ?

ﬂﬁﬁﬂﬂa.P.m?’hmamanam:4mh-a§a‘rmA.P.im
HH-T 98 YA B 2 2

If the 3rd and the 9th terms of an A.P. are 4 and - 8 respectively,

quadratic cquation

which term of this A P. is zero ?

% frga & R e ks y=1 M (k+1)x+2y=3 T F3 B
T B 2

For what value of k, equations kx+y=1 and (k+1)x+2y=3 have

no solution.
4 tan2 45" +c0s2 30" -sin? 60" HLAA T H 5

Find the value of 4 tan? 45" +coa? :i-t)"-sin2 60’ .
Hiﬂmer-;?:a,xatO ¥ el % 7 H 2

Find the roots of the equation x+%=3, x20.
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20,

27,

28.

29,

30.

[110]
af2 #fid A8 BCm

p.

AABC W i fg @ Rradan = Ac - 13 30 8

SR M0 ciu £ Fwrd 5 ol @ @ BC R Fwd @ H
hich AB = AC = 13 cm. If the

AABC is an isosceles (riangle in w
BC is 5 cm, find the

length of perpendicular from the vertex A L0
length of BC.

x 1 A P e forg ol P(x, 4] @ Q(9,10) F T H D
10 T8 ) c

Find the value of x for which the distance between, the points
Pix, 4) and Q{9, 10} is 10 unils.
Rl (- 3, 10) 3 (6, - 8) 1 W3 @ TwraE F farg (- 1, 6) T

saTe 8§ fafas wxar @ 2 <

In what ratio does the point { - 1, 6 ] divide the line segment joining
the points (-3, 10 ) and (6,-8) ?
w15 H ot W e F w600 W B AR ) dIR W W g B

Femé A X Sl i A i e w1 2 2

A ladder 15 m long makes an angle of 60° with the wall. Find the
height of the point on the wall where the ladder touches the wall.

wh ¢l i ime € g ) @ 15 I B 20 Pz i w6 o T few
TR §ARA JTA &L 2

The length of the minute hand of a clock is 15 cm. Find the area
swept by it in 20 minutes.

2 a1 T F E {1 F I A 3 W dn o @ v
&1 B 6 Wifdwsa = it ? 2

Two dice arc thrown at the same time. Find the probability that the
sum of the two numbers appearing on the top of the dice are morc
than 9.
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1110
= T W | Long Answer Type Questions

g7 €T 31 W a8 A T wer §1 gl @ B 4 o & I ) S
av= & fow 5 3w fraifea 1 4x5=20

Question Nos. 31 to 38 are Long Answer Type guestions. Answer any

4 questions. Each question carries S marks.

s i I 3x-Sy+1=0 G 2x—y+3:0 w AEd d@fd AR

31.

32.

33

34,

4 x5=20

T W 5

. : ' o d
Draw the graph of the pair of lincar equations 3x-5y+1=0 an

2x -y+3=0 and solve them.
@mﬁmw:}mﬁuﬂﬂaﬂaélmﬁéﬂﬁsmﬁﬂ,

5

The arca of a rectangular ficld is 260 square metre. If its length

becomes 5 metré less and breadth 2 metre more, it becames a

square field. Find the length and breadth of the rectangular field.
ﬁmaﬁﬁﬁlﬂwﬂgﬁ%%ﬂﬁ-ﬁm agma:nﬁﬁrmgmaﬁitarﬁ%

3 & wUet g 2| 5

Prove that the ratio of the arcas of twa similar triangles is equal 10

Lhe ratio of the squares of their corresponding sides.

3 3

0 cosec” (0

e & sc;: + : = sec0 cosecO [ secO + cosecO ).
sec“0-1 coOsecC 0-1

an

sec’0 | cosec 0
secZ0-1 cosec@-1

= sec() cosec( [ secO + cosec( ).

Prove that
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L2
U [

36.

37.

1110
m?miﬁﬂzntﬂmmg;aﬂ@mmtaﬂt@ﬁﬂﬁwﬂ@ﬁ@

F T T A e 22 1 14 A AN F T TN TR T TR
#) $wr I w) 2

A 20 m deep well with diameter 7 m is dug and the soil from
digging is evenly spread out to form a platform of 22 m > 14 m,

Find the height of the platorm.
ﬁm%m—ﬁ%ﬂ@mt&mﬂmm“%amm%

o farg @ dan % gt & Trm =iw 60° 31 TR g so A St @ A
¥4 ) ITu8 1w =) 5

The angle of clevation of the top of a building [rom the foot of a
tower is 30° and the angle of elevation of the top of the tower from

the foot of a building s 60°. If the tower is 50 m high, find the
height of the building.

4 afl, 5 & AR 6 AN ol T @ By B @ Wt ol AR TS
mmm@ﬁmﬁmmmﬁwﬂmgmaﬂﬁ
%Tﬁ!ﬁl 5
Construct a triangle of sides 4 cm, S cm and 6 e¢m and then

construct an another triangle similar to it whose sides are 2 of the

" corresponding sides of the firat triangle.
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| 110 |
E mmﬂmmaﬂ 5

37 | 80-85 [ 85-90 [ 90-95 | 95-100 | 100-105 | 105- 10 110-115

5
AERA] 3d 27 85 155 110 45 1

Find the mode of the following distribution :
Class- | 80-85 | 85-90 | 90-95 [ 95 100 | 100-105 105-110
interval
Frequency | 33 27 a5 155 110 45

L e

110-115 |

15

fagr §1€a o1e siie yere sifhfaas
ALY Uue, ATsss Que, 3fide-&bl,

UT&ashd, siied, dAld ¢ee, dAe-3M1 34T

fae e udtel uss u4 3fe & f3E...
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